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Choose the correct answer.

Numerator = 4, Denominator = 8; Fractionis .

a. 2 b. 8
8 4
— 4+ i -
14 14 ———
a L b, &
14 14
18 rials = baiza.
a. 180 bz b. 1800 bz
4.875 rials is baiza.
a. 48075 bz b. 47.75 bz
65 m= cm.
a. 6500 cm b. 65000 cm
47 km 605 m = m.
a.47605 m b. 470680 m
450 baiza = rials baiza.
a. 4 rial 500bz b. 45 rials 000 bz
3_
4" 24
a. 15 b. 18

TOTAL MARKS- 20

12
14

c. 18 bz

c. 4875 bz

c. 650 cm

c. 476050 m

c. O rials 450 bz

c.12

To convert metres into kilometres, we must divide the metres by
b. 100

a. 10

1 of 50is =
5

a. 10

b.

20

c. 1000

c. 30

(6 Marks)



Length of your mother’s saree is measured in

a. metres b. centimetres c. kilometres
80,000 baiza is = rials.
a. 80rials b. 8 rials c. 800 rials
Do as directed. (8 Marks)
Arrange in ascending order. b. Arrange in descending order.
s> 3 7 2 0 8 14 6
12 " 12 "12 12 15 15 7 15 ’ 15

8 3
Add. — + — =

20 20 —

) 8

Draw and shade to show the fraction. TS
Convert into centimetres. 8m 45 cm = cm.
Convert into metres and centimetres. 7642 cm = m cm.
Convert into metres. 5 km 815 m = m.
Convert into kilometres and metres. 5506 m= km m.
Read carefully and solve . (6 Marks)

. . 1 : :
There were 27 children in a class. 3 of them were girls. How many girls were there
in the class?

Ronhit has 28 Rials. If he buys a note book for 500 baiza , Science text book for 3
rials and a chocolate for 2 rials , how much money would be left with him?

: 4 6 :
Salim got To of a chocolate and Sara got To of it. Who got more? How much
more?






